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LGk X ETHT £ (10°m%/ %) X BT+ 4 (10°L/4F) X ETH £ (10°L/%E)
1 |t BB S IS ET 273,137,804|REATIL X 299,929|EEAR AL X 82,570,118
2 |EREEIMET 23,184 567|E& 99,015| E£& 1 16,163,034
3 |FEith AR KEET 4,315,125| £ & &R IMET 90,744 XEH 11,581,710
4 |\kH 4,271,337| X &t 41,195 BKEE ZR ERET 8,905,728
5 |E4&ERFN/KET 2,405,892 /\ X 38,875 /\ i 8,347,431
6 |FHET 1,995,623 | Bk BE ER &R ET 31,295| EXEH 3,745,484
7 |Fxh 1,793,033|EEA T X 19,307| L 2SS AR {1 AR BT 3,279,578
8 |k&ET 1,575,406| FEATHER X 18,418 £ 44 AR FN /K BT 1,439,037
9 [EEARTIALX 1,437,223 EX&EH 12,912 & 44 £R ma B AT 923,933
10 |REARTHERKX 1,209,235 e AR TR X 11,922 Bl gx &R ma /] EI BT 906,024
1 |FREF 1,186,763| L 2 35k BB fEN AR ET 11,370| EEARTHER X 318,852
12 |RERTmX 1,081,230 48 5th /7 10,109 REATH FE X 282,062
13 |E&™H 552 414)LLEETH 9,393|HEARTH R X 215,980
14 |&EM 521,589) E 4 ZRra RHET 5,126 %3 /th BB A SEET 133,498
15 |&ithh 273,788 E 4 ERFN/KET 4.964|BREEE S S YT 129,481
16 | LZSHLER 25 BT 209,709 BT &% T 3,480] £ 44 EB £ IMET 89,173
17 | LXEM 180,029 | A &5 &R e /IN E BT 3,208 L 25 A AR A 3k BT 58,390
18 | LISHER = SHT 103,611 % ith BB K= ET 2,839 /\ X EB5K 1| ET 34,525
19 |BTEREREE R AT 94248 ETH 2,363|lLEETH 29,310
20 |REM 81812 A& 2,112)K4xRH 20,387
21 |lugEm™ 74,792|F L 1,320) %5 it mfa 15,914
22 |paExm 55,192| & &M 1,071|F LM 13,042
23 |EEATHRRX 54,215| £ 235 BB AR S T 933 BT 9,989
24 |REARZFACHET 54,032/ \{XEBIK )11 BT 833| [ &R 9,057
25 |ReRmER 26,745 L I ER = S ET 811| L 25 ER 3= ST 7,798
26 |EkEEERERET 20,042 |EREEER B & U BT 7192|&7EH 5,238
27 |ZEALERAEILET 14,942 K& 264l NETH 3,435
28 |AE™ 12,467 | BI85 BB EE R 4 253| BT gx EB FE IR A% 1,357
29 |/\{XERIKIIIET 10,743) & 4 B} E 3RHET 10|k 30
30 | LZEIER B 1 ET 7,328|FH 1| E4 80 E R HET 10
31 |EKEEERZ R ARHT 6,699 RE &R AL ET O|Z L &R = AHT 0
32 |BarExER/|NEIET 6,200 T 25 35 BB < B HT O BREZER#E B4 0
33 |EKEERH ST VHET 5,382 EREEER % R AHT O|BkEEER 2 B AHT 0
34 | EZE I ERfEN A ET 4,385 BT Ex AR /N E BT ojfE AT R X 0
35 |BaT%EREREE BT ER AT 4,229 X BB = AR ET O|ZE L AR &AL BY 0
36 |BREEEBILSTAT 4,169 L 2535k ER R & BT O Bl 5 &R A Bal &5 4 0
37 | LR ER ILIERET 3,860|%5 th BB Z 5 HT 0| %3 ith & % 5 BT 0
38 |EKEEERHE R AT 3,600] L 2535k &R LLI&R BT O BKEE &R LT 4% 0
39 |EdLAREZ AT 2,766 BkEE &R S RITET Of Bk BZ & i RiT BT 0
40 | FEEBEBEEHET 2211 |BREEEME B AT O| RE AR AL BT 0
41 | E4EBraFAET 2,076 BREEERILIT 4 O Bl &5 & = 2R BT 0
42 |PExER= FRET 1,984 RE AT R R X O T Z& 45 Bt 3= B T 0
43 |EREEERZHIET 1,537\ E LB A AL BT O] L #5364 20 R (& BT 0
44 |EZEERMT 1,149| Z L AR E = AHET Of L ZE 45 & LLI ZR BT 0
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